Online Extra

shop-made
Tool
Holders

The drawings on these pages provide you with the
information needed to build tool holders for the tam-
bour tool cabinet featured in Woodsmith 187. Keep in
mind that it may be necessary to customize the
dimensions and arrangement of the individual hold-
ers to the tools you wish to accommodate.

SIDE VIEW PANEL FOR
| LAYOUT TOOLS
=" - 6% > FRONT VIEW
S| S -2 — ] %" radius 33% |

Vs | ] Vt 1 "4"-dia. rare-earth Y"-dia. rare-earth O ©
L + ¢ C>‘\magnet magnet f

T[] % ]
Lt 2 -
C_% 3%
~ Y6
L T q<—_£ i< / = —— 27— l

I % f ! 2
1,
% 3/+ -7 | 1> ||-

Al 7 -, NOTE: Glue tool
L i.ir + - 4 o Yol holders to panel
= _
* r % T NOTE: Ease all edges
A + " with sandpaper
l NOTE: go;ders are
— - > Y made from
Z hardwood. Panel is 9
U] T %" plywood
B 1
Y| || Drill and _+_
+ - 1 i countersink for 3
}__ P ‘ #6 x 34" Fh woodscrews Va
s
L J=7% 4 ° Y

NOTE: All coves
are %" radius i 14% -

Woodsmith No. 187 Online Extras Page 1 of 1 ©2010 August Home Publishing. All rights reserved.



Online Extra

TOOL RACK
TOP VIEW

- 26%

‘ — 22— 22— |-

- 9% -« 22—l 20— pla—2—ple—2 NOTE: Tool rack is

made from 34" -thick
hardwood

2, —»

— Yy |-— 3" radius

3" radius J"i
EZ
1/EE>D V'EW COPING SAW HOLDER
5 %6 <—¢ 4>| 1 |a— FRONT VIEW

,

-

T 3 ;ﬁh e -

NOTE: Tool rack is attached
with #8 x 1%:" Fh woodscrews

14" radius

- W——>|

through false back
>l 3
1%" radius &

NOTE: Drill and countersink

J for #6 x 1"2" Fh woodscrews

-~

y " © o]
VZ
END
SECTION SPOKESHAVE HOLDER
FRONT VIEW
R Y"-dia.
—l 1y |a— dowel/
s - L 0 © ® ©
T HAMMER HOLDER
FRONT VIEW
) Hammer T
%" -dia. -
{.% B 78 © e ©
support
blocks

2% [ 2%
B

Y4

NOTE: Shape support
blocks to fit hammer

NOTE: Drill and countersink
for #6 x 34" Fh woodscrews

(

- Y ©
L7 J __! 5

A

-

Woodsmith No. 187 Online Extras Page 2 of 2

©2010 August Home Publishing. All rights reserved.

# <—N—>‘



Online Extra

[ ] [ ]

Woodsmith No. 187 Online Extras Page 3 of 3 ©2009 August Home Publishing. All rights reserved.



